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THIRE REVISION MARCH 2025
10™ MATHS KEY ANSWER ( CHENNAI )
CHOOSE THE CORRECT ANSWER
12

guadratic

: |
1

27

straight line
-1,2

point of contact
5v2cm
(3,5)

g

2

12cm

3n

0

33.25

ANSWER ANY 10 ONLY
R={(xy)/y=x+3,x{0,1,2,3,4,51}}
.. Relation =

{(0,3), (1,4), ( 2,5), (3,5), (4,7), (5,8)}

Domain ={0,1,2,3,4,5}and

Range ={3,4,5,6,7,8}

0O o 0o 0 T 0 o0 o oo

fof(k) = ( 2k — 1 )o( 2k — 1)
Thus fof(k) = 4k -3
But, it is given that fof(k) =5
Therefore 4k-3 =5

4k =8 = K=2

= 2(2k=1) - 1

(k(k+1)
. 2

2
) =@y
= 3252
= 105625

14 16 12 4 11 -3
2A+B=|{ 2 ¢ 18 ) +|—1 =2 4
-8 6 =2 Z B 0

18 27 9
=( 1 8 22)

-1 11 -2

=>A=b?-4ac = A=(11)2-4(15) (2)
=A=121- 120 =A=1
Therefore A >0,

.. The roots are real and unequal.
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20. By Pythagoras theorem we have
PN? = PE? + NE?
= x’= 187 + 242
= x? =324 +576 _
—» x% =900 /
= X =v900

=>X=30m.

Y

P

21. Slope of the first line
=>Xx-2y+3=0

= Slope of straight line (m;) = =

Slope of the second line
—>6x+3y+8=0

=> Slope of straight line (m>) =

=  —6
=— ¥—
2

3
= -1
Therefore the lines are perpendicular.

JomXma

18m E

- 0— \E
22. Slope of line (m) = s =m=
Xp—X1q 0'—5
-5 Vs 1
—m= = = == = ——
-5 5 V5
23. =>LHS =tan’0-sin’d
sin‘g sin?8- sin“0 cos?0
= —sin‘0 = .
cosZ0 cosZ8
sinZ8 (1 - cos?0)  sin?BxsinZ0
- cos?@ ~ cos?8
sin‘@ ) )
=——— X sin’0 =tan?0 sin%0 = RHS.
cos<0

24. Surface area of Sphere =154 m?

22
= 4xr’=154 ::>4x7xr2=154

22154 1 _49 =>_7

= *2%: T2 r=3
7

= Diameter=2r =2 x ;

~. The diameter of the sphere = 7cm

25. Ratio of their volumes
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S.D. of first 21 natural numbers

nz-1 212-1 441-1
Al 12 = 12 12
440

miss = V3666 =6.05

Sample Space (S)

= { HHH, HHT, HTH, THH, TTT, TTH, THT, HTT }

n(S)=8

Let A= probability of getting two consecutive

tails

A ={HTT, TTH, TTT}

n(A)

=>n(A)=3 = P(A) = ;(‘g; =

QW

p’xq'xrfxs® =315000
=N x5 %2
Lp=3,q=7,r=5,5s=2

ANSWER ANY 10 ONLY
Given:A={1,2,3,4,56,7},B={2,3,5,7}
andC={2,}
LHS:Ax(B-C)
(B=C) ={2,3,5,7}-{2}

= { 3, Juifa)
Ax(B-C)={1,2,3,4,5/6;,7}x{3,5/7}
=(1,3),(2,3),(3.3),(4,3).(5,3),(6,3),(7,3),(1,5),
(2,5),(3,5),(4,5),(5,5).(6,5).{7,5),(1,7).(2,7).(3,7),
{4,7); (5,7),(6,7).07,7)} ———— (1)
RHS:(AxB)-(AxC)
(AxB)={{1,2,3,4,5,6,7}x{2,3,57}
={(1,2),(1,3).(1,5),(1,7),(2,2),(2,3),(2,5).(2,7),
(3,2),(3,3),(3,5).(3,7).(4,2),(4,3),(4,5).(4,7).(5,2),
(5,3).(5,5).,(5.7),(6,2),(6,3),(6,5),(6,7),(7,2),(7.3),
(7,5)(7,7)}
(AxC)={1,2,3,4,5,6,7}x{2}
={(1,2),(2,2),(3,2).(4,2),(5,2),(6,2),(7,2)}
(AxB) — (AxC) =
{(1,3),(2,3),(3,3),(4,3),(5,3),(6,3).(7,3),(1,5),
(2,5),(3,5),(4,5),(5,5).(6,5).(7,5),(1,7),(2,7).(3,7),
(4,7).(5,7),(6,7),(7,7)} - -(2)
From (1) and(2) LHS=RHS

(i) f x=1, f(1)=3(1)+2 =5
If x=2, f(2)=3(2)+2 =8
If x=3  f(3)=3(3)+2 =11
The images of 1, 2, 3, are 5, 8, 11 respectively.
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If x is the pre image of 29, then f(x) = 29
3x+2=29 —x=9
Similarly x is the pre image of 53, then f(x) = 53
3x+2=53 =x=17
The pre —images of 29 and 53 are 9 and 17
respectively.
Since different elements of N have different
images in the co —domain, the function f is
one — one function.
The co — domain f is N
Buttherangeof f={5,8, 11, 14,17, ........... }is
a proper subset of N.
.. f is not an onto function. That is f is an into
function. Thus [ is one —one and into function.

S1=2(2a+(n-1)d)
Sz=22—n(2a+[2n—1)d)
53=3?n(23+{3n—1)d)

3(S:-51)
=3[=42a+(2n-1)d)-2(2a+(n-1) ]
:3?11[(4a+2(2n—1)d)—(23+(n—l)d]]
=3f7n[23+3nd—d]

=?[Za+(3n—l)d]
Therefore 3 (S2-51) =853

3+33+3+.......... ,. +nterms
=3(1+11+111+....................+ n terms )
3
Sn =;{9+99+999+ ................ + n terms)
3 y
=;{l 10+10%+10°+ ... +nterms)—n)
a(r"-1)
T e
1 (10(10"—1) )
Sn | e RN |
3 9
- 10(10°-1) n
2 27 3
Let o & P are the roots of the equation

2y’ —ay+64=0

o=23 (given) - (1)
o+ 3 =_Fb - —--—-(2)
il @ ot gl
i "2 op = 2
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apf =32
By(1) =2 xp =32
232=32
B =Vi6 B=+4
But a =2 ( given)
= o=2(4) =a=8
foa=8&p3 =4
o2
= oa+f= 2
a
=8+4=_ =a=24
Ifa=8 &B=-4
o
=a+fp= 2
1
=8 -4 =5 —=a=8
Thereforea=8 (or) 24
2 . =
34. x e e i ;a 5
3a“- 3
_(a+#)(a-1) _ (a+4)
T 3(az-1) T 3(a+1)
P ((a+4) )2 _(a+4) ?
il 3(a+1) T 9(a+1)2
_a’+ 2a=8
Y Ta?-2a- 4
(a+4)(a=2)  (a+4)
T 2(a%-a-2)  2(a+1)
g o ((a+4) )2 _(a+4) 2
LA CYP T " 4(at1)?
2 et ?
T (a+4)?
P (a+4)® 4(a+1)?
X2y =
9a+1)? = (a+4)?
4
-2 ey
Xy 5

s e (3 (3 -

36. Statement: If a straight line is drawn parallel
to one side of a triangle intersecting the other

37. Area of the quadrilateral

-

Ol-512) ¥ »
— 121_ = 15,11)

|

Area of quadrilateral
_I{ 8 & —5 -4

"2l 11 12 3

1[X] X2 X3 X4 X]
Y. Y2 Yz Ya "1

“. -

Di—43) 2

-
X6 4 -z“‘_,: 468 w0X

} Sg. Units

o
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two sides, then divides the sides in the samei
ratio. !
Given :Ina A ABC, Dis a pointon ABandE is a |

|

point on AC j:} !
AD AE Y '

ToProve: - == 7931_&5{ i
¢ 9 I

Construction: & e, |
Draw a line DE || BC i
No. | Statement Reason i
. | ZABC = ZADE | Corresponding i
=Z1 angles are equal ;
because DE || BC |

2. | ZACB = ZAED | Corresponding ]{
=22 angles are equal i
because DE || BC :

|

3. | ZDAE = ZBAC | Both triangles have ||

=3 a common angle i

|

AABC ~ AADE | By AAA similanity | |

|

AB _ AC Corresponding sides i

AD AE are proportional i

|

AD+DB |

AD Split AB and AC i

_ AEFEC using th epoints D i

AE and E. :

|

4 DB Ec | Onsimplification i
l+—=1+—

AD  AE |

|

DB _EC Cancelling 1 on both | |

AD AE sides i

AD _AE Taking reciprocals | |

DB EC |

|

Hence proved i

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

I

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|
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1
=7[(88+60-15-24)-(30-55-48+24)]

=2 [(109)-(-49)] =

LS

(109 +49)

=

=>(158) =79

Therefore area of quadrilateral = 79 sq. units.

/ '+ A(6.2)
L 1
B(-5.-1) D C(L.9)

Equation of Median AM

Here ‘M’is the mid point of BC

Thereforex1 =-5,x2=1,y1=-1landy;=9

(31'*‘?‘2 Y1+Y2)
2

Therefore mid point of BC =

-5+1 -1+9
- ( 2 2 )
Therefore equation of median AM is
A=(6,2)andM=(-2,4)

!

y—=¥y1 _ X=X
¥2=¥1 X2—X1
y-2 _ x-6
4-2 -2-6

= -8y+16=2x-12
=>x+4y-14=0

(2 2) =an

. 300_1800 i
an o BD \E\\
BD =1800V3
1800 & \\\
tan 60° = 50 g \\
BC =600V3 = \ \
DC =1800v3 - 600v3 b "
DC =1200v3 """}r__ e
=2078.4m
= Volume of frustum

— 1t h(R? + r? + Rr) Cubic units.

Xtx45(282+72+28x7)

W =W ErW | =W -

X tx45(784 +49+196)

= — Xnx45x1029
= 15435t cm?® (or)

Kindly Send Me Your Study Materials To Us Email ID: padasalggtéﬁrah%ﬂ.com

D

- . e e G G G e M S G e e GEm G M m M M M G e S O e e e e e S e R SE ME S S mm M mE M M E G M N NN M S SR R R N R R R O e e e S e S e e e e e e e e e

41.

42.

www.TrbTnpsc.com

22
= 15435 x -71—— = 48510 cm?

Therefore the volume of frustum = 48510 cm?

S= {(1,1),(1,2),(1,3),(1,4),(1,5),(1,6),
(2,1),(2,2),(2,3),(2,4),(2,5),(2,6),
(3,1),(3,2),(3,3),(3,4),(3,5).(3,6),
(4,1),(4,2),(4,3),(4,4),(4,5),(4,6),
(5.1),(5.2).(5,3).(5,4),(5.5).(5,6),
(6,1),(6,2),(6,3).(6,4),(6,5),(6,6)}
= n(S) =36

Let A be the event of getting even number on

the 1% die

A= {(2,1),(2,2),(2,3),(2,4),(2,5).(2,6)
(4,1),(4,2),(4,3),(4,4),(4,5),(4,6)
(6,1),(6,2),(6,3),(6,4),(6,5),(6,6)}

= n(A)=18
) 18
il n(s) " 36

Let B be the probability of getting face sum 8
B ={(2,6),(3,5),(4,4),(5,3), (6, 2)}
=n(B)=5

( -—

(AnB) = { (2, 6), (4, 4), (6, 2)}
= n(A7B) =3
n(AnB) | EX
n(s) " 36
P(AUB) = P(A) + P(B) — P(ArC)
5 3

18
— P(AUB)=;+;-E

P(ACB) =

5
"9

5
Volume of cone = 1005 -7- cu.cm

1 7040
] e (1)
3 7

1
Base area of cone= 201 ;sq.cm
1408

7
1 1408 h 7040 (by (2))
=——xh @——
3" 7 7 Y
7040 X 7 X3
= = 15¢m
7 X1408

nr = —(2)

1408 22

) 1408
=D Xrs=
7 7

nr =
r=8cm

Slant height (I) = Vh?* + r?
—=[=+152 + 82 =1 =+225 4 64
—1=+/289 =[=17cm
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43. (a) : Solution: From the graph
. i (i) 1fx=3then, y=8
: (i) Ify=6then, x=4
i (b)
F !
" : X{s[4(3]2][1]0]1 3|45
I
. 4 I Xl5[16|9]a1[o0]1]af9]16]2
e | - LAY I -
i ¥ ! X|-5|4(3|-2[1[0[1]2]|3|4]5
L P | : 121-12 |12 (12 |-12|-12 | -12 | -12 |12 | 12| 12 | 12
v e T . ! Y80 |6|10[12]-12[-10{6]0] 8|18
|
: fiitid R 1 |
d X b N Sae
: R [T s -l em= 1 wmit
| j X [ s s m!
- ok P € i SR e ‘ -
I : o &
e |
1 ‘ A § -
; | e
e e
I [ =1 3
: o] b ) s
\ ] e ) ‘ ! 3
-§ : r i - -3\-5,-' PR SR
"3- . 3 \ I —H
. N/ ] ! s o
Length of tangents = 8.7 cm : . & | !
: . .
. B e h
44, (a) i S
: I R
k1t lefsfalslsfuln] RY
y |2 |28 |6|e]3]2]1] : S 5 {*‘,f;l'al'} ’L%’“"’ T R B
: I e g
I : '
% ? : H{.-]: .._11,_-1:2)
! I | -4 |
uf} 130 | B
5 ] ~ InXaxislem = 2 unit :
nf o In Yaxis1em = 2 unit 1 Solutionset={-4,3}
I
. : Therefore the roots are real and unequal.
! I
i \l.‘;l.—’} :
0 '.! |
P34 1 :
3 > 4‘ :
Al :
\L 783 ~mmEEE M |
N 2 8 St e I
s 2 4. ¥ !
] 4 : :
|
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